
CEA 10/18/22 

 

Jeep XJ Cargo Tray Installation Instructions 

 

Thank you for purchasing our Jeep XJ Cargo Tray! 

Installation Notes: 

• Refer to your factory service manual to remove any factory components. 

• This product is designed to fit 4 door Jeep Cherokee 1997–2001-year models. 

• Removal or relocation of the factory spare is required for installation.  

• Test fitting this product is recommended before painting.  

• All Hardware is stainless steel to prevent corrosion. Hardware will need to be installed by 

hand with anti-seize to prevent galling. 

Tools required: 

• 9/16” & 7/16” Wrenches  

• 5/32” & 7/32” Hex Keys 

• Philips head screwdriver 

• 8mm Socket and Ratchet  

• Anti-seize  

 

Bill Of Materials for B4WK12742 Jeep XJ Cargo Tray 

QTY Part Number Etch Number Description 

2 B4W125148 148 XJ Trunk Tray Top 

1 B4W125142 142 XJ Trunk Tray Rear Driver Side Bracket 

1 B4W125141 141 XJ Trunk Tray Rear Passenger Side Bracket 

1 B4W125140 140 XJ Trunk Tray Front Driver Side Bracket 

1 B4W125139 139 XJ Trunk Tray Front Passenger Side Bracket 

10 25C62KBC3  1/4"-20 X 5/8 Button Head Cap Screw Stainless 

10 25CNNE0Z  1/4"-20 Nylock Nut 

4 37C100KBCS  3/8"-16 x 1" Button Head Socket Cap Screw Stainless 

4 37CNNES  3/8-16 Stainless Nylock 

4 37NWUSS  3/8" USS Flat Washer SS 

 



CEA 10/18/22 

 

Step 1: 

 Release and fold the rear seat forward. Take note of how the rear seat latch is aligned and remove 
the three bolts with the 8mm socket. Place the bracket over top of the seat latch 

bracket and reinstall with the factory hardware. Leave the hardware slightly loose. 
 

Installation Note 
If you are running this in conjunction with our XJ Rear Window MOLLE Panel kit it needs to be installed 

now with the extra hardware provided in this kit.  
 

 
 

 

 

 

 



CEA 10/18/22 

 

 

 

Step 2: 

Remove the two screws on the rear trim as shown below and install the rear support brackets on both 
the passenger and driver side with the factory hardware. At this point if the stock hardware is no longer 
functional or you are planning on running additional accessories on the cargo tray upgrading to larger 

hardware is recommended. This can be done with through bolts, accessed through the taillights or Rivet 
Nuts are also a good option. 

 



CEA 10/18/22 

 

 

Step 3: 

Assemble the two sides of the cargo tray top using the ¼”-20 hardware as shown below.  

 



CEA 10/18/22 

 

 

 

Step 4: 

Insert the Cargo Tray in the vehicle through the back hatch and loosely install all hardware as shown 
below. Two people are recommended for this task.  



CEA 10/18/22 

 

 

 

 

Step 5: 

Tighten all hardware starting with the seat bracket assembly and moving rearward checking alignment 
throughout the process. Once the installation is complete check seat and rear hatch clearance. If further 

adjustment is needed loosen hardware, move tray into needed position and hold in place while 
hardware is tightened.   

Step 6: 

The Cargo tray is now ready for the installation of additional accessories. 

 

 

 

Professional Services Disclaimer: 

The content of all pages of this website (collectively, the “Website”), such as text, graphics, images, information and other material (collectively, 

“Content”) is for informational purposes only. Any information furnished on this Website is not intended nor implied to be automotive advice 

and is not intended to replace personal consultation with a qualified automotive service technician, mechanic, or similar automotive professional. 

Barnes 4WD has not examined the Content for accuracy, timeliness, completeness, appropriateness, or helpfulness. Barnes 4WD does not 

endorse any specific tests, products, procedures, opinions, or other information that may be mentioned on this Website. Your reliance upon 

Provided ¼”-20 Hardware  

Provided 3/8”-16 Hardware 



CEA 10/18/22 

information and Content obtained by you at or through this Website is solely at your own risk. IN NO EVENT SHALL BARNES 4WD BE LIABLE OR 

OTHERWISE RESPONSIBLE FOR ANY DAMAGE OR INJURY (INCLUDING DEATH) TO YOU, OTHER PERSONS, OR PROPERTY ARISING FROM ANY USE 

OF ANY PRODUCT, INFORMATION, IDEA, OR INSTRUCTION CONTAINED IN THE CONTENT. 

BARNES 4WD DOES NOT MAKE ANY REPRESENTATION OR WARRANTY, EXPRESS OR IMPLIED, AT LAW OR IN EQUITY, WITH RESPECT TO ANY 

PRODUCT FEATURED ON THE WEBSITE, INCLUDING WITHOUT LIMITATION WITH RESPECT TO MERCHANTABILITY, FITNESS FOR ANY 

PARTICULAR PURPOSE, VALUE, VALIDITY, OR ENFORCEABILITY, AND ANY AND ALL SUCH OTHER REPRESENTATIONS OR WARRANTIES ARE 

HEREBY EXPRESSLY DISCLAIMED. 

 

 

 

 

 

 

 


